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200 MIQee
210 BAFMASY
8 212 AlB242 EGR=E)
I R 04l &bl T3 0l Aro HRZS2
oggr= 748,818
0&HE 41,0002 %480 T « 12 236, 160
028 14000249 * 122 1,512
0d= 21,00024% 1358122 34,020
0=A 140,00020%958 * 122 159,600
0ctA 29,00024*180& * 122 62,640
alely 44, 000242858 * 122 150,480
08ls 25,30024+85& * 122 25,806
OAIE 37,00024% 150 &+ 127 66,600
(= 3ali=s 20,000 %50& « 122 12,000
OSESE 23,659
OAH 1,20024 38+ 122 43
alely 90,0002 x2& * 122 2,160
OAIE 690,000 <2 & * 122 16,560
0d= 8,00024+1 X122 %
04lS 400,000% 1 &% 122 4,800
212-07 YRS 91,000 91,000
[ SYHLAASES|H ] 91,000 91,000
< BHUECSH > 91,000 91,000 0
OUAIFT2 & 822 UEZ 91,000,000 91,000
212-00 JIEtAIER 241,500 241,500
[ SYHLAIASES|H ] 241,500 241,500
< BHUEHCSH > 241,500 0 241,500
OUAZFT& CIEFA H2s 1,500,000 1,500
OstdiASAE AEE 240,000,000 240,000
216 0IXp==2 219,083 258,360 NA39,277
216-01 SB0IS0IXt3L 140,700 181,360 A40,660
[ ZRANHESESH ] 36,500 55,000 18,500
< MEDSD > 36,500 55,000 18,500
OolZ Ol S 36,500,0002 36,500
[ SAILLANTOISHIIZ2SESLSY | 57,000 67,000 10,000
< ZHDED > 57,000 67,000 10,000
03302 Olkt 57,000,0002 57,000
[ AFRASHRZHSES|H ] 1,000 1,000 0




200 MIQlee
210 ZAEAMLAS
8 216 01X (Erel: )
I R 04l &bl T 0 Atrod HmE2
<HRLED > 1,000 1,000 0
O2303 Ol 1,000,000 1,000
[ ZYMHLAIASESH ] 5,000 5,000 0
< Bkt st > 5,000 5,000 0
O3302 Olkt 5,000,000 5,000
[ REUMEorE )| 2 SH3|H ] 15,200 3,360 11,840
< Z=QI=XY > 15,200 3,360 11,840
03302 Olkt 15,200,000 15,200
[ sHLEIIZELTH ] 26,000 50,000 24,000
< SEA > 26,000 50,000 24,000
O&JIMI= Okt~ 26,000,000 26,000
216-02 SX23|4:0/ X142 78,383 77,000 1,383
[ ZRAMNHESLSH ] 77,783 77,000 783
< MEDSD > 77,783 77,000 783
OEX=3 0lk=Y 77.783,6402 77,783
[ RS MEoLE )| 2SS H ] 600 0 600
< Z=oI=XY > 600 0 600
O8X2 Okt 600,000 600
230 NIZBEAM - 22 49,210 15,610 33,600
236 222 49,210 15,610 33,600
236-01 22 49,210 15,610 33,600
[ ASTAIASESH ] 49,210 15,610 33,600
< ABIEE I > 49,210 15,610 33,600
== 49,210
02% 70,0002 +50& 3,500
0d= 70,00024 %20 1,400
0=A 70,00024 %20 1,400
0ct 70,0002 x40 2,800
osler 70,0002 +20& 1,400
08lS 70,0002 +13% 910
04y 70,0002 %20 1,400
OAI& 70,000&4*20& 1,400
(Ipdsl 70,0004 %500 35,000
2x2 15,205,977 14,474,653 731,324




& 500 BEx3
2t 510 2 DEXSE
& 511 3NEBXRZS (Etel =)
-85 Oil &tod S E0| Aot HwEZ
510 = NBE3S 14,542,934 13,646,232 896,702
511 218X 32S 14,542,934 13,646,232 896,702
511-01 =218X3 9,008,172 8,535,805 467,367
[ YEAFHXAX AL SESH | 348,000 326,000 22,000
< ZHuSu > 348,000 326,000 22,000
OLEAFHIIAXRAAI 348,000,000 348,000
[ A=SHIISSESA ] 148,172 158,405 A10,233
< FRIEXW > 148,172 158,405 210,233
OBAH=RE o2 148,172
02= =0 Atddl2tel At b 57,442,000 57,442
0220 HEHHI 12,800,000 12,800
0ol2=0 =320l 77,930,000 77,930
[ =ZHHES3IH ] 8,507,000 8,051,400 455,600
< EZ9IM > 77,000 0 77,000
Odtd Y 5t7 MAeD| 3k At 77,000,000 77,000
< Aot > 8,430,000 8,051,400 378,600
Oze A2t 8,430,000
0K B30T EUIAY 2.,305,000,000 2,305,000
040 B35t=HelAlE AEAY 1,821,000,000 1,821,000
OAIE BE5tXelAlE SEAY 1,110, 000,000 1,110,000
02X+ so0E0E0E 84 794,000,000 794,000
04CHRI+ S3ot-22 XA 1,500,000,000! 1,500,000
€ X+ sHE0IE0: &4 300,000,000 300,000
OUEXZ? sUHE0I20tE &4 300,000,000 300,000
0EEX? sHE0E0eE: B4 300,000,000 300,000
511-02 2D SHLHSEIHNERS 100,000 180,000 80,000
[ SYHLAMLSSSIA ] 100,000 180,000 80,000
< BHUELCSH > 100,000 180,000 80,000
Ot d a2t 100,000
OXITtM tHAZF S 4 100,000,000 100,000
511-03 212 5,439,762 4,930,427 509,335
[ =ZHHES3IH ] 5,439,762 4,930,427 509,335
< EZ9Id > 80,939 73,950 6,989
Ogde A(Es2==H2elIs) 80,939




-85 Oil &tod S E0| Aot nE

o gEE2 74,250,000 74,250
OStA & ot MdD| E3t At 6,689,000 6,689

< &6t > 5,358,823 4,856,477
Ogde A(EsS2==AH2eIIs) 5,358,823
020X otr=2t2 ZHIAH 655,000,000 655,000
0aHXI? B30T EUIAY 720,000,000 720,000
040 B35t=HelAlE AEAY 192,000,0002 192,000
OAIE B35tXelAlE SEAY 57,000,000 57,000
02X+ s0E0IE0E SEAY 90,000,000 90,000
0BEot=HelAIZ(B35te=E 2F) 831,445 000 831,445

OAtsRZE XS 2e| (R a3 2

165,855,000 165,855
0EEXIAAA 700,000,000 700,000
0L BN &AL 865,000,000 865,000
0FCIXIZAIE AIE2 L B2 40,849,000 40,849
OR MM (BRXelAE 29) 142,417 ,0002 142,417
OIEEEMANEOIEREHMAE 2Y 899,257.000 899,257

520 Al - EHIEEZ3E 663,043 828,421

SHIEEZS 663,043 828,421

521-01 Al - SHIEXZS 663,043 828,421

SSNLAISSESIA ] 192,500 190,500

stetet st > 192,500 190,500
O HUNHELZ|HALS 30,000
OAHHE Azt 30,000
o NIAtHl Kttsety x4 30,000,000 30,000
OTSXL0I2AL 162,500
O2sts2E= a2t 162,500
oMENSEE S 2R AL 162,500,000 162,500

SSHII=SESA | 37,043 40,101

< ==X > 37,043 40,101
O=10E XA 37,043
02AH=XE a2 37,043
02250 Atdll2telAtHHI 14,360,000 14,360
02250 HEZHI 3,200,000 3,200
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& 500 BEx3
2 520 Al - SHIEERZS
g 521 Al - SHIEZESS (Etel =)
-85 Oil &tod S E0| Aot HwEZ
o220 E=330| 19,483,000 19,483
[ =ZHHES3IH ] 433,500 597,820 A164,320
< Aot > 433,500 597,820 A164,320
O3B ZAY 433,500
oss At 433,500
o &HXI? S3ote+E EHIAY 26,000,000 26,000
oMl BB3tHelAlE AEAIY 96,000,000 96,000
oAIE BBotHelAE ESEAY 81,500,000 81,500
o2+ sHEOISoT SEAY 38,000,000 38,000
0 HuXlT sHEOISoT SEAY 64,000,000 64,000
oHZX 7 sHEOISoT SEAY 64,000,000 64,000
o EHIT sHEOISoT SEAY 64,000,000 64,000
700 EX=USHIHFI1H 32,558,643 25,481,615 7,077,028
710 BdAUS 16,173,576 15,900,859 272,717
711 203 13,672,946 14,017,859 A344,913
711-01 =AIAHL 0= 13,672,946 14,017,859 A344,913
[ SRAOHIESESIA ] 4,181,480 4,122,546 58,934
< HFD= > 4,181,480 4,122,546 58,934
O=NHLH= 4,181,480,080 4,181,480
[ SA)IHLALBOSHIIS2ESLEIN | 3,000,000 4,000,000 1,000,000
< ZHuSu > 3,000,000 4,000,000 1,000,000
O=NHLH= 3,000, 000,000 3,000,000
[ MASHTZLESSIA ] 2,000 2,000 0
< ZHwSut > 2,000 2,000 0
O=NHAHLHZ 2,000,000 2,000
[ SYHLALSSSIA ] 150,000 150,000 0
< BHUELSH > 150,000 150,000 0
O=NHLHZ 150,000,0002 150,000
[ HEUMSOIH)|IZSLIA ] 857,054 938,067 281,013
< ==X > 857,054 938,067 281,013
Oz=MALHZ 857,054,670 857,054
[ AT AISSES ] 100,000 271,925 A171,925
< &6t > 100,000 271,925 A171,925
O=NHAHLHZ 100,000,0002 100,000
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500,000,000

4,882,412,860&

500,000
500,000
500,000
4,882,412
4,882,412
4,882,412

500,000
500,000

3,898,321
3,898,321

984,091
984,091

2,500,630

1,883,000

617,630

200,000,000&

1,000,000

2,299,630,000&

2,500,630
200,000

200,000
200,000
1,000
1,000
1,000
2,299,630
2,299,630
2,299,630

1,883,000
200,000

200,000

5,000
5,000

1,678,000
1,678,000

617,630

4,000
4,000

621,630
621,630

16,385,067

9,580,756

6,804,311

16,385,067

9,580,756

6,804,311

1,000,000,000&

94,000,000&

6,138, 109,000&

508,876,000

16,385,067

1,000,000
1,000,000
1,000,000
94,000
94,000
94,000
6,138,109
6,138,109
6,138,109
508,876
508,876
508,876
2,274,028
2,274,028

9,580,756

87,000
87,000

2,275,414
2,275,414

486,301
486,301

1,608,271
1,608,271

6,804,311
1,000,000

1,000,000

7,000
7,000

3,862,695
3,862,695

22,575
22,575

665,757
665,757
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